TH7F6AEN=

R 7 — Rt o
EEEE 45
E1% &3 11| 24.4%
Bt 7| 63.6%
Q1 7t 4| 36.4%
(EIEHI) m[m] 25 0| 0.0%
&t 11
e 0| 0.0%
204% 1] 91%
301¢ 0| 0.0%
404 3| 27.3%
Q18 504¢ 4| 36.4%
(EEH11) 604% 2| 18.2%
704 1] 91%
801¢ 0| 0.0%
WEE 0| 0.0%
&t 11
EEHP 7| 41.2%
= PR 2| 11.8%
AR 3| 17.6%
azfcsioty | 2717 1| 59%%
(EEH17) RRE— 1 5.9%
FEEEET  lmams 2| 11.8%
Z DAt 0| 0.0%
WA 1| 59%
it 17
B HBICED 4| 26.7%
HE(CEID 3| 20.0%
BERIIEED 2| 13.3%
Q3fEEELI-EE HEDILE 2| 13.3%
(E%15) -
xEEF2o>ET | FAIZEHONT 1 6.7%
Z DAt 0| 0.0%
WA 3| 20.0%

AN
A

.l.

anh

N
(&)}




TH7F6AEN=

R = b
{EEEET O r—MEET
EREER 45
EEEEE 11| 24.4%
KIIRfR 3| 27.3%
B TES 3| 27.3%
sEsFo E vl o]
QIEEDEES BT RIERE 3| 27.3%
BRETEREM HFEYEFETET 0 0.0%
(EZ&#11) N
B TEd 0 0.0%
|E 2| 18.2%
&t 11
KA 3| 27.3%
B TE 4| 36.4%
Sds o E vl o]
S BHL IR 2| 18.2%
BEETEREM HEVYEMETES 0 0.0%
(A1) ——
BETEY 0 0.0%
MEZ 2| 18.2%
A&t 11
55) 5| 45.5%
wanHnl 4| 36.4%
S ~ =3 f‘ o]
Q64 4 T EbbEELE AL 0 0.0%
L,T:;k\f\ HFEYBR DL 0 0.0%
(ESS1) BhHiri 0| 0.0%
|E % 2| 18.2%
&&t 11
TEROEHR 8| 36.4%
BUEIRE DML 7| 31.8%
TREDSIEE 4| 18.2%
o - HAA 5 :
THEIBE I mmarsvorz| 0] 00%
([EE%22) RO FE 1| 45%
X E T
Ll 0 0.0%
|E % 2 9.1%

AN
A

.l.

anf

N
N




Q1151 Q14§
(A& H11) (EZ&H11)

Q2 A CHI> 1=/ Q3 EFEL-EHR
(EZE#17) (B $a5)

O

5.9%
HMAIZEHN
1-—




Q4 BENDHRE%L
BETE=h,
(E&E#11)

Q4 BEDHEZE
HETE=H
(EE#11)

Q65 &L ERE
L7=Lyvh
(E&E#11)

Q7 E=ICHIF
IBHRIE
(E&E#22)

BHRDEE
4.5%.




